Endschiessen Talschitzen Sulz G-50M
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1 |Buttazzo Alexander 96 60 99 560 115 111 426.00
2 |Merkofer Yvonne 96 58 99 554 117 113 425.40
3 |Chenaux Claude 96 59 99 546 112 112 420.60
4 [Schraner Hanspeter 95 55 94 520 111 107 407.00
5 |Peil Alexander 90 55 92 518 108 104 396.80
6 [Weiss Peter 90 54 91 493 107 108 391.30
7 |Schraner Peter 91 52 95 518 101 104 390.80
AK [Wenger Marcel 96 57 97 536 118 110 421.60
AK|Rondone Johnny 91 54 89 489 110 109 392.90
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1 [Chenaux Claude 96 1 Buttazzo Alexander 60
2 |Merkofer Yvonne 96 2 Chenaux Claude 59
3 |Buttazzo Alexander 96 3 Merkofer Yvonne 58
4 [Schraner Hanspeter 95 4 Schraner Peter 52
5 |Schraner Peter 91 5 Schraner Hanspeter 55
6 [Peil Alexander 90 6 Peil Alexander 55
7 |Weiss Peter 90 7 Weiss Peter 54
AK|Wenger Marcel 96 AK Wenger Marcel 57
AK|Rondone Johnny 91 AK Rondone Johnny 54
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1 |Merkofer Yvonne 99 1 Weiss Peter 493
2 |Chenaux Claude 99 2 Schraner Peter 518
3 |Buttazzo Alexander 99 3 Peil Alexander 518
4 |Schraner Peter 95 4 Schraner Hanspeter 520
5 [Schraner Hanspeter 94 5 Chenaux Claude 546
6 |Peil Alexander 92 6 Merkofer Yvonne 554
7 |Weiss Peter 91 7 Buttazzo Alexander 560
AK|Wenger Marcel 97 AK Wenger Marcel 536
AK|Rondone Johnny 89 AK Rondone Johnny 489
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1 |Schraner Peter 101 1 Merkofer Yvonne 113
2 |Weiss Peter 107 2 Chenaux Claude 112
3 |Peil Alexander 108 3 Buttazzo Alexander 111
4 |Schraner Hanspeter 111 4 Weiss Peter 108
5 |Chenaux Claude 112 5 Schraner Hanspeter 107
6 |Buttazzo Alexander 115 6 Schraner Peter 104
7 |Merkofer Yvonne 117 7 Peil Alexander 104
AK|Wenger Marcel 118 AK Wenger Marcel 110
AK|Rondone Johnny 110 AK Rondone Johnny 109

AK Ausser Konkurrenz




